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Exercise A#2

A user who wants to receive messages and be sure to avoid error transmis-
sions decides to use two RSA keys. Someone willing to send him a message
should encrypt it using both keys and send both ciphertexts. We assume
plain RSA or RSA with deterministic formatting rule. The (lazzy) user who
do not want to generate too many prime numbers decide to use a single
modulus for both keys. Show that an adversary can easily decrypt mes-
sages.
Hint: assume that the two encryption exponents are coprime and use the
extended Euclid algorithm.
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